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CPU=SH4 0 00O (unsigned D0 0)op=(double 00 0) (op DO0ODOO0OOOO0DOOOO)D0O00DOOOO
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<cooo>
#include <stdio.h>
unsigned int a=2, c;
double b=3;

void main()
{
c=b;
a*=b;
printf("a=%d¥n", a); /*a=6 OO OO0 */
}
<gooooooos>

STS FPSCR,R3
MOV.L L282+4,R2
OR R2,R3
LDS R3,FPSCR ; H'00080000 0O OO0 double 00O (FPSCR.PR=1)
MOV.L R3,@R0
: ;00 a*=b 000000
MOV.L @R2,RO
MOV.L L282+20,R1; _ u2d
JSR @R1
NOP
FMUL DR2,DRO ;double OO0OO0O0O0OO0OOOOOOO_uw2d 000000 single O
,000o000oo00ooobo0oooooooo
MOV.L L282+24,R1; _d2u
JSR @R1
NOP
MOV.L RO,@R2
gooood
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(1) cpu=sh4 0O 0O 0O O fpu={single]double} OO OO O0OQO fpscr=aggressive (default)D 0000000
(2)datalop=data2 (op DO O000O0O0OO0OOOO) D0O0OOODOODOOO
datal O O O unsigned char/unsigned short/unsigned int/unsigned long O O
data2 0 0 O double O O
(3)(O0UO0D0OUDOO0OOdouble DOODODODOOM@UDOO)O

gooood
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LHooooooooooooooob000000000_vw2d000_d2u000000D0O0O000O0O0OODOO

ooooood
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(1) DooooDooOoooooooooo
<0O> a*=h; -> a=a*b;



